R XRE DHITIR

EKI0E6 AL
XHEAR | XHEE | THSEE) aang

6818 =& 6,000 | AEFEEHESREERS - BHR
6A6H =25 5000 [(ANEEREARERES -BHE
6H8H EL = 5000 [(AFMRZ L ELERERSMNESR
6A8H E-3-1 5000 [EHEEREARERES -BHRS
68148 E3 = 3,000 |SWV-FTABMLIZREREFLEBRS
68188 BE 10,800 |[BMEARIFIFHK(TSVV-FHBRBERD IS HEFRENE) FEEER
68198 E3 = 6,000 [SWV=-FHAERESTBEERS - BHES
6A198 _E 5000 [({EREILREESSEERS -BHS
68268 S& 5000 [SWV-FHAERHREHLR BRI
6H28H _E 5000 [SWV-FEIREMETEERE -BiR
6H28H E3 = 5000 | KEXMRBE BRI -7 20 N—T1—
6 &G 114 60,800

FREIOFEERE 254 157,600




